1. Prominent Indian social activist
Deep Joshi was awarded the
prestigious Ramon  Magsaysay

Award for the year 2009 for his

{a) philanthropic work in the
form of the Lok Biradari
Prakalp amongst the Madia
Gonds in Gadchiroli district *
of Maharashtra and the
neighboring States of Andhra
Pradesh and Madhya Pradesh

{b) extensive work in applying

wireless technologies to
develop remote areas of the
Himalayas

(c) vision and leadership in
bringing professionalism to the
NGO movement in India

{d) dedicated service for cancer
* patients and intensive research
in the prevention and cure of

the disease

2. Which one of the following
statements about Gangubai
Hangal, who died in July 2009, is
not correct? "

{a) She was a Hindustani classical
singer of Kirana Gharana

(b) She was awarded Bharat
Ratna in 2002

{c) She was a campaigner to
increase awareness for organ
donation

{d} She had the rare honour of
being felicitated by nine Prime
Ministers and five Presidents of
India
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3. Which one of the following
statements about WADA (World
Anti-Doping Agency) code is not
correct?

(a) The code is the core document
that provides the framework
for harmonized anti-doping

. policies, rules and regulations
within sport organizations and
among public authorities

{b) The code entered into force
from January 1, 2004

{c) Under the code, the use of any
prohibited substance by an
athlete for medical reasons is
not possible

{d} Under the code, a sanction
could be applied in cases
where there is evidence that an
anti-doping rule violation has

l occurred, but where there is no
positive doping-control test

4. Consider the following statements
about lawn tennis court :

i. Hard courts are faster than
clay courts but not as fast as
grass courts.

2. The French Open is played on
a hard court, but the US Open
is played on a clay court.

3. An approximate north/south
orientation of the court is
desirable during evening play.

Which of the statements given
above is/are correct?

faj 1 and 2 only

{b} 3 only
f¢j 1 and 3 only

(d) 1,2 and 3
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5. If a limestone piece is dipped in 8. Consider the following paragraph :

water, a bubble evolves. The
bubbling is due to

{a} hydrogen -
{b) oxygen
{c/] water vapor

{d) carbon dioxide

6. Which one among the following

Rajdhani trains covers the longest
distance?

{a) 2433 Chennai Central
(b} 2431 Trivandrum Central
{c) 2435 Dibrugarh Town

(d} 2429 Bangalore City Junction

7. On which one of the following

grounds, in August 2009, Scottish
authorities released to return home
Abdel Basset al-Megrahi, a former
Libyan agent, jaﬂed for life for the
bombing of Pan Am Flight 103 on
December 1988 that kiiled 270
people, most of whom were US
nationals?

fa) UN requested thHe Scottish
authorities to release him

(b) He was dying of cancer

(¢ Charges against him could not
be established in the Scottish
Court of Law

{d} US granted pardon to him
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He was serously injured in police
lathi charge in Lahore during
demonstrations  against  Simon
Commission  for which he
subsequently died in November
1928. Later on the British officer,
who was responsible for the lathi
charge on him, was shot dead by
Bhagat Singh and Rajguru.

The reveolutionary referred to in the
above paragraph is

{a} Pandit Govind Ballabh Pant
(b} Lala Lajpat Rai
{c) Mangal Singh

(d) Motilal Nehru

9. Which cne of the following can be

provided under RTI Act, 20057

{a) Information leading to incite-
ment of an offense

(b} Information leading to
disclosure that may constitute
contempt of court

{c] Conditional disclosure relating
to information on intellectual

property

(d} Information relating to Cabinet
Papers recording deliberations
of Council of Ministers
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10, In the month of Qctober 2009, the
Indian Air Force in Mumbai airport
forced a flight of North American
Airlines Boeing 767 to land. Which
of the following statements in this
respect is/are correct?

1. It was forced to land, because
the Indian Air Force was
reported that there was a bomb
planted in the plane.

2. The plane was travelling to
Bangkok, Thailand from
Fujiriah, United Arab Emirates.

3. The plane was carrying US
troops.

Select the correct answer using the
code given below :

Code :

fa} 2 and 3 only
(b} 1 and 3 only
fe) 2 only

f{d) i, 2and 3

11. Consider the following statermnents
about Tata Steel] :

1. It is Asia’s first privately owned
integrated iron and steel plant.

2. It is the first company outside
Japan to get the Deming
Application Prize in 2008 for
excellence in  total quality
management.

3. Immediately after the
enactment of Provident Fund
Law in India, Tata Steel
introduced provident fund for
its employees.

4. 1t is the first company in the
world to get Social Account-
ability 8000 certification from
Social Accountability Inter-
national, USA.
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Which of the statements given
above are correct?

fa)} 1 and 2 only
{b) 2 and 3 only
fc¢ 1,2 and 3
{d} 1 and 4

12, Consider the following statements
about the Queen’s Baton Relay :

1.

The helix shape of the Baton
for the 2010 Commonwealth
Games, created out of
aluminium, is coated with a
graded and layered soil pattern
in black, yellow and red to
represent the diversity of
Commonwealth nations.

This Relay traditionally begins
with a commencement
ceremnony  at  Buckingham
Palace, London, during which,
the Queen entrusts the Baton
containing her message to the
athletes to the first honorary
relay runner.

The Relay for the 1998 Games
in Kuala Lumpur, Malaysia
was the first to travel to other
nations of the Commonwealth.

Which of the statements given
above is/are correct?

(@

(b)
(c)
(d)

1, 2 and 3
2 and 3 only
2 only

1 and 3 only
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(a) Fa 130 2

(b) & 2 3R 3

fc)

1, 2 3T 3

(d) 134
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13. Which one of the following crops’

production has been exceeding
target since 2004-2005 in India,
but its growers have been
committing  suicide - in large
numbers in many parte ‘of the
country every year?

{a) Pulse
{b} Cotton
fcj Oilseeds
(d}, Wheat

14. Consider the following statements :

1. The DRDO developed two
’ variants 6f Prithvi Missile.

2. Prithvill is equipped with

' features of maneyverability to
deceive the enemy defence
system.

3. Induction of Prithvi Missile
enhances the capability of the
Indian Army to attack multiple

' targets simultaneously.

Which of the statements given
above 15/ are correct¢’

fa) 2 and 3 only

i) 2 on'lyw 4
(¢ 1 and 3 only
(@ 1,2eand3

15. High Altitude Warfare School of the

Indian Army is located at
{a) Gulmarg
fb) Siachin
{c) Leh
{d} Manali
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16. Consider the following paragraph

-

‘and identify the person referred to

therein using the code given below :

+She joined the diplomatic corps in

1949 and became the first woman
diplomat of India. She was the
Ambassador to Hungary, Ghana
and the Nether!ands

Code : |

{aj C.B. Mﬁtﬂamma_
{b) Nirupama Rao
{c) Chokila Iyar ‘

{d) Meira Kumar

17. Consider the following features of a

border district of India and identify
the district using the code given
below :

Situated at the height of 10000 feet,
which is enchanted with scenic
beauty, the district is surrounded
by two nations in_the north ‘and
south-west. River Nyamjang-chu
runs through it. Potato, maize and
millet are the main crops of the
district. Besides monasteries, tourist
attractions of the district and its
surrounding places include Sella
Pass, P. Tso. Lake, War Memorial,
Jaswant Garh, etc. Losar is one of

the prominent festivals of the district.

Code:-:

fa) Lohit

{b) A'I‘awang

fc} Kangra

{d} West Sikkim
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18. ‘AVAHAN’—the Indian segment of 20. Which of the following pairs are
Bill and Melinda Gates Foundation - correctly matched?
(BMGF) is engaged in the

i . 1. Carlos Ghosn : Nissan Motor
pI'EVEH on ¢

Company

(o). dengue 2. Bill Green : Accenture
3. Carol Bartz : Yahoo

b} - polio 4.  Andy Bond : Vodafone

Select the correct answer using the

{c) HIV/AIDS
= code given below :

(d} filariasis

Code :
fa) 1 and 4

(b} 1 and 3 only

19. Consider the folllowing paragraph (q) 2 and 4
- and idertify the' person referred to

o {d 1,2 and 3

i it :

A Nobel Laureate in Literature, she 21. Which one of the following Public
is a member of Romania’s ethnic Sector banks’ emblem figures a dog
German  minority who  was and the words ‘faithful, friendly’

in it?

prosecuted for her critical depictions
of life ‘behind the Iron Curtain’. She {a) Punjab National Bank
made her debut in 1982 with a

collection of short stories entitled

‘Niederungen’, which depicted the fc) Oriental Bank of Commerce
harsh life in a small, German- (d) State Bank of India
speaking village in Romania. This
book was censored by the
Communist Government.

{b) Syndicate Bank

22. Which one of the following countries’
central bank has procured 200
metric tons of gold from the IMF in

October 20097
fa) Doris Lessing

{a) China
(b) Gulnter Grass
(b} Sri Lanka

(C) Herta Mueller (C} Singapore

{d} Imre Kertesz ' {d} India
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18. ‘st —fR@ o aferm T weRIH
(BMGF) # widftg ¥ frafafaw 4
¥ fopss Famm o gem 27

(a) ST,
(b} fer
fc) To R0 o /TzH

(d) FEATE

10, frffan ayede T R S oh gE

Fie =afte i weie

wifed ¥ 799 yOSR © gfaftw, a8
OHIHTT & GIdig THA 3TqaEds GYad
# g 2, fod ‘dig-we & 98 & iaq
& HTAAITS feFidT & g sifEifora
e 1 91y 3T ST TET F IRy
1982 ¥ Higt=m' wWiHE I ag-FUT
e ° e, Red dafar & o o
FHT vt wig % FIX SAad @ (AR
uT/ g Jedw argEret SEd ERT 46T #
T ot

(@) Sf@ afm
(b) T UH
(c) wl A

(d) T ®HA
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20. FrefrRam Tt & & w92 o8 gAk 37

1. wewwE e e S
2, fawdm . TR

3. %ﬁam{a : U

4. TG 908 : AETHH

2 Rt M $= w1 W T ad W
EGLE

E T8
fa} 134

(b) had 1 3R 3
¢ 234

. (d) 1,223Mm3

21. Frafafaa adefe &% a5 1 @ fa

% & TiiE-fag # T g A ampla ik
Ry, Mgl T 37

(@) TN A 6

(b) Trodizee 9%

c) HNTTe T 31ie HFad
(d) WY @ 4%

22, fafefaa 3t 4 @ B o 3 S=im

% A SESK 2000 § WZo To o @
200 Hif¥® o1 W W Rt

(a) <A
b) e
() Ry

(d) WRd
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23. Match List-I1 with List-II and select 25. Launched recently by the Central

the correct answer using the code Board of Excise and Customs,
given below the Lists : : ‘ACES’ is a
List—I List-II {a) new centralized, web-based
(Name of (Type) software application of the
warhead) Board
ice desk divisi f
A. Teja 1. Air-to-air missile (b) service desk division of the
: Board for collection of service
B. Arjun 2. Ship-based missile taxes
C. Dhanus 3. Main battle tank (¢ new division of the Board for
' T disseminating information
D. Astra 4. Light combat aircraft about the direct tax structure
in force
Code : (d) new form of service tax return

26. Which one of the following States has

fa) A B C D waon the overall championship title
2

4 3 1 in the 63rd National Aquatic
Championship held in Kerala in
{b) A B C D 20097
1 2 3 4
{a) Kerala
fc) A B C D (b} Karnataka
4 1
2 3 (¢} Assam
{d A B C D (d) West Bengal
1 3 2 4

27. In the assembly polls that took place
in three States in October 2009,
the Indian National Congress got

24. Piramal Life Science is a/an A
absolute majority in

{a) life insuranc¢e company {a} all the three States of
Maharashtra, Haryana and
(b} drug research company Arunachal Pradesh
(b) Maharashtra -and Arunachal
(c) SEZ (Special Economic Zone) Pradesh only

' H d Maharashtra onl
(d) PSU dealing with healthcare e} Haryanaan arasitra only

amenities fd) Arunachal Pradesh only
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23, gH-1 & FH-11 F "y gofera Fifsw iR

gRE F TR R e gz w1 W@ W«
mgﬁu:
Tqeh-1 H=-11
[ThieH vid [TR |
(aree) =
RLLS
A A9 1. Ig-8-3 frawa
B. argd 2. dia-afeia e
C. gy 3. §& I&F oF
D. 3™ 4. Tw ga& famm (|nge
Fae TIGRIE)
e
@@ A B C D
4 3 2 1

) A B C D
4 2 3 1
) A B C 'D
1 3 2 4

24, frme @R wEE = 87
(a) <R «im wee
(b) 3TN IgEYR Fegft
{c) Tho o Hgo (Fadiw sl &)
(d} w@en @ glawsT & fa Fm
F aredt dto wHo Fo
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25. T © ¥ wE IAR-Yeh Td HHYeH

NS g U FI T ‘ACES’ T 27

(@) N FH TN FEFa, IF-dE
TR AT

(b) Ta-Hd N el F fow 9 @
Ta T T

fe) AV TUEH-F WA o fama #
g % wan & forg S @
TAT

(d) Ban-F famoft w6 7 yreg

26. F=faftaa osat 4 & - ws 3 2000 3

@ 1 3 639 e HRe AR
7 wun A aged st

(@)
(b) FAEH
fc) oTHH

(dj diim sma

27. IFER 2009 ¥ 7 w4 & g R @

gmEt § fefafes @ @ fee/fem
T/t A R T wim 3 g
FgHd T T ?

(o) TEWE, sEEN 3 STEEE W2
—fi7t o=at

(b) A AT 3R RIS Wew |
fc) Faa giEmen i vy @
(d} AR IXOTEA FeU H
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28. Which one of the following is not
an issue straining Indo-China
relations?

fa} Construction of a dain across
the river Brahmaputra in Tibet

fb) Visit of Dalai Lama to
Arunachal Pradesh

fc) Stapling of Chinese visa for the
people of Jammu and Kashmir

(d} Linking Kashmir valley with
the Indian Railways Network

29. Which one of the following States has
seen a series of strong public
protests against the Armed Forces
Special Powers Act in force in that
State?

fa) Nagaland
{b} Manipur
{c¢) Jammu and Kashmir

(d) Jharkhand

30. Venkatraman Ramakrishnan has
been jointly: awarded the 2009
Nobel Prize in Chemistry for his
contributions in

fa) identifying the molecular ruler
in ribosoma! assembly which
ensures error-free synthesis of
protein in cells

{b) synthesizing a group of life-
saving antibiotics

fc) the work on green fluorescent
protein of jellyfish

{d} successfully crystallizing the
large subunits of ribosome in
cells

T-DETA-K-HL/2A
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31. An underwater meeting held recently
has drawn attention world over. The
meeting was held by

{a) some Somali pirates to make a
new sirategy for capturing
ships for ransom

(b} some environmental scientists
for promoting awareness for
saving water

{c) some environmental activists
for  promoting  awareness
against air poliution

{d) the Cabinet of a country to

highlight the threat of rising
sea level for the country

32. Which Asian team will be out of the
next FIFA Football World Cup for
the first time after a gap of
20 years?

{a) Saudi Arabia
(b} South Korea
{c} Japan

Iran

(d)
33. Which one of the following is not a

football tournament?

{a) I-League

{b} Irani Trophy

fc) Bardoloi Trophy

{d} Durand Cup




28, fr=feiflgg & @ #w-w1 ™ wra-dH

eyl % S T o e e Y

(a) fossg & 9RIGA 98 W TH AY &
fmior

(b) TS TIHT Y VTS YT hY F

() T-HER F wmt & fog =R s
AR-TeAA (RUA) FHE

 (d) YR R eEd F oy S e
Y He

29, Ffafea o=at % 4 fra ™ w9 8 @0

e g faow wiwat sifufran (emd
ST ANE TEd ) % e wed
sA-fta Yt @ 3= €7

(@) AIRIvE
(b) wRI
(c) FFEFBIR
(d) FRETE

30. SHV THFWH I fFar 9% gu aeH

% U 2009 @ W@ H AeS
TEFR TY® © A wg fomar w27

(o) TFEEHS s 1 v Fa =
TEEEA, S wifRERT § wEE W

IRER dveiww ghifim w2

(b) UH -1 whefw wE oW
FIATI AT

(c) Sefifrn & R vidfieha W ¢
F4

(d} wiwslt § TEEW % 9Eq
TCHH B AEAAES  FReT
F
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31, o @ 1 g U el d8e 3 fam-

i a1 o it 98 99 e
&H?

(@) T AR T GO A, gRE-ww
¥ FEST W Heoll A H T8 gRe
T % R

b} Fo wiaw dyihet 3, 99 aE e &
fora srrewan % §3HF 7

() F© W@ aEFFaEtE A, 91y
WU & i ST % Tada ¥

(d) TH @ S Ffeade A, 39 M F g
dgd §U WIR & @at WAy
T A F o

32, HH-H TiEE W 20 961 & I=UA F

18 Igell IR 3l FIFA §eaid 99 &
¥ e grh?

fa) TS &
(b) <feror i
{c) <mUH

(@) @

33. Feafafed § @ F9-w w6, Feaia e

T &7

(a) 3E-Tm
(b) S IR
fc) RS 2t
(d) T8 9
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34. Consider the following "paragraph 37. -In the year 2009, Japan launched its

and identify the person referred to first satellite to monitor greenhouse
therein with the help of the code gases, What is the name of the’
given below : satellite?
" After training 'under Ustad Abdul fa) Tadami
Rehman Khan of Patiala Gharana, (b} Yasushi
he turned to Ustad Ghulam Mustafa ¢} Kyoto
) Khan. ‘Memories come Alive’ is his (d) Ibuki

autobiography. He was awarded

Dada Saheb Phalke Award. 38. Which one of the following pairs with

. Code - . respect to computer is not correctly
) ) matched?
{a) 'S. D. Burman fa) 1 megabyte :
(b} Bhﬁpen Hazarika _ (1024)%(1024) bytes o
t - {b) Compiler :
{c/ Mdnna Dey Lo

A program which translates

(d) Bhimsen Joshi a high-level language
' program into machine
*35. Which one of the‘following is the .language
central theme of the Chipko fc) Liveware :
Movement, started by Sunderlal The users working on the
Bahuguna in 19737 system

{d) Plotter :

An electronic device used

fa) Conservation of river water

(b) Protection of birds ' to convert digital electronic
\ signals to communication
{c) Protection of cheetahs en . .
. channel electronic signals
{d) Conservation of forests and vice versa

i

39. Who among the following were jointly
solitary aircraft carrier of the Indian Ia{w:\rdej t?g fREJt:e (Jand;(; 0;? el
Navy that turns 50 in 2009 and has atna fward for Hhe year 200S:
the distinction of being the oldest (@) M. C. Ma}rykom, Vijender
floating airfield in service? Singh, Sushil Kumar
' {p) M. C. Marykom, Vijender

Singh, Saina Nehwal
(b) INS Trishui {¢) Vijender Singh, Sushil Kumar,

36. Which one of the following is the

fa) INS Viraat

! R. 8. Rathore
{c) INS Godavari
{d} M. C. Marykom, Sushil Kumar,
{d) INS Vikramaditya ) R. 8. Rathore

T-DETA-K-HL/2A 16




34, fefafan st w faem i it

Ru g gz B gEra @ 3 PiE w

TRATH R % IR I G G F
3refl7 g g % varg @ 3@ AW
Tew @H 8 g BE0W ¥ gand
T el 81 IR I ARE Feh
ware §arT fam )

QQ_C:

(a) THo dlo T
(b) AT ENIGEH
(¢ TSI

(d) e seft

35. 1973 ¥ GAo@ SgEN E ST TR

™ R aReR i g fewgerg
Frefafea 8 @ wF-8 = 17

fa) TS < HEW
(b) el & wE
fc) <t =1 T

(d) =i = HLE

36. fafafga ¥ 4 Fv-w ww awda @

F1 e fomiares 9 B, s 2009
50 99 g Hm R PR wrfiem dara
AT T FATE & QA 1 G Wi B7

(@) INS =
(b) INS F@
{¢) INS TeEd
(d) INS fawmie™

T-DETA-K-HL/2A
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37. a¥ 2000 # SWH 4 MER" AW W)

atfier w0 & e e om IWR SR
Tt ITUE B AH = 87

(a) eEE
(b} Vg
(c) FRA
(d) TR

38. F=foflae gl 4 & #97-w & F9gn +
- e #, R gufa 78 87

(@) 1 TTETEE :
(1024) % {1024) =g

(b) FHHITITR :
 TF W S ISR 9 S
! Wl T # TS T @

(c) TTEEAR :
e W e #1399 W
(d) e :
w aegte ge s Rfea
TaRiTe famel @ FER S
Toat Rme &, i T,
il @ & o W ad @

39. f=fafiza 4 @ ad 2008 & R wim

T 9w W gEEn R gw &9 8

werm fepan gt

(@} Te e Awm, fm=t fik,
it FAR

() e o Uhwm, T fiw,
HRAT TR

) = f&g, gia FER,
HKOEHOU@R

[d) Te o WhwM, T FAR,
Mo THo TER

[P.T.O.




41. Which

42. Which

40. If the earth did not have an

atmosphere, temperature extremes
between day and night would

{a) increase
(b) decrease
{c}] stay the same

(d) fluctuate rapidly

one of the following
statements on biosphere reserves is
not correct? '

(a} In 1973, UNESCO launched a
worldwide programme on man
and biosphere

(b) Biosphere reserves promote
- - research on ecological
conservation .

fc) Nanda Devi Biosphere Reserve
is located in Madhya Pradesh

(d) Biosphere reserves are multi-
purpose protected areas to
preserve the .genetic diversity
in ecosystems

one of the following
statements is not correct regarding
the Himalayas?

{a) Himalayas have nappe and
recumbent folds

(b} Himalayas rose up from the
Tethys Sea

(c) Himalayas contain three
mountain ranges-—Siwaliks,
Great Himalayas and Kunlun
Ranges

(d) The orogeny took place in the
Tertiary Era

T-DETA-K-HL/2A
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43. Which one of the following is not

44,

associated with monsoon climate in

India?

fa} El Nifio
_currents

temporary warm

b} South-equatorial ' warm
currents of Indian Ocean

fc) Western disturbances
{(d} Cyclones of Bay of Bengal

On the above map of India, the
shaded districts are those in which
a particular tribal group constitutes
more than 50% of the tribal
population, What is that particular
tribal group?

fa) Gonds
(b} Bhil
(c¢) Nagas

{d) Santhals

45. Which one of the following places is

not located on the bank of river

" Ganga?

(a) Uttarkashi
(b} Kanpur

{¢) Fatehpur
fd) Bhagalpur




40, 7R geelt W AngvS TG A, A 7 3R

Td & off= aHR =1\
(a) &g vm

(b} w9 T K

) WA=

(d) ¥R ued-mga &

41. Sfanvew fisEl & favg 4 Pfefafea 3 8

FIA-61 T& FUA At Ad 77

(a) 1973 # UNESCO 3 AmRd 3
Savew @ fogemdt wriEd
RGRERIRN

() <arvga foe aftfeafas g «
IJHYH H TIeaTed I 8

(c) =1 T Sanvsa fod wa wem 4§
srafem 8

(d) Stemvzar fod wiftaat § sgafie
fafua & ofwem & fow wg-
Sexf wefi 89 &

42, fomem & ar A f=fafEw 4 @ #R-@

TF FIA Tel T 87
(o) Temmer o a9 oK TAIH 9o B 8
(b) Temmem 3@ arr | 3w 2

) Tmrem & @9 uda APET F
Rranfes, g5q ool ot A
Sifvrt

() vdaA I TR gI o
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43, Tefafga & @ sF-w &, @ A 9=gT

FeaTg & wEtaa et 37

fa) e i el 397 gr

(b) YR TEETR W EfE-yEeda
Eac il

{c) afgrt faes

(d) Smre i W F wHard

vrd % 39w At T @R A @,
ot @@ oy el g, SR .
TEEAT % 50% @ 3 & 1 Bl A
famiy ST Tug FH-T 87

(a) TS
(b) @
{c)
(d) Hu

4s. Frafafga # @ @9-9 o= e T TR S

Frmt W srafem A 37
(a) JOGHEA
(b) AL
(c) BTG
(d) WA

[P.T.O.




46. Which is the correct arrangement of
the following rivers from north to

south?

{a) Godavari, Penner, Kaveri,
Periyar

(b} Penner, Godavari, Periyar,
Kaveri

{c) Godavari, Kaveri, Penner,
Periyar

(d} Kaveri, Godavari, Periyar,
Penner

Code :

fa) A B C D
1 2 3 4

(b} A B C D
4 2 3 1

fcj A B C D
1 3 2 4

(d) A B C D
4 3 2 1

50. Which of the following seas are

47. The time at Cairo is 2 hours ahead of
Greenwich. Hence, it is located at

fa}j 30° W longitude
(b} 30° E longitude
{c] 28° E longitude
(d} 28° W longitude

48. Bolivar is the monetary unit of
{a)
(b)
{c) Boglivia

(d)

Venezuela

Brazil

Belarus

49, Match List-I with List-1T and select
the correct answer using the code
given below the Lists :

List-T List-II
{Sphere of the (Main constituent of
earth) the sphere)
A. Lithosphere 1. Living objects
B. Hydrosphere 2. Mixture of gases
C. Atmosphere 3. Water
D. Biosphere 4. Soil
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51.

enclosed?

1. Andaman Sea
2. Aral Sea

3. Sea of Azov
4. Bering Sea

Select the correct answer using the
code given below :

Code :

(a)
(b}
(c)
(d)

1 and 2
3 and 4
2 and 3
1 and 4

An earthquake epicentre is the

(a)

(b)

(c)

(d)

point where the seismograph
is located

point within the earth where
the movement along the fault
occurs

approximate centre of a group
of related earthquakes

point on the surface directly
above where the rupture along
the fault zone occurs




46, Prafafas e =1 3w @ <fim 6 8k
TE T ®H-w 27

o) TeEd, b, wEd, AER
(b) I, Tireradt, IR, FEE
(c) Therad, FRA, v, AR
(dj FEl, MaEd, tfeEm, I

47. =i (F50) & ww = 8 2 9w am
21 o a2 e 3T W el 27

(@)
{b)
fc}
(d)

30° W
30° E
28° E
28° W

48, TR FEl A TH-TH &7
fa) TN

(b) TS

(c) efifemn

(@)

qATEH

49, -1 = gEi-11 F Wy gafaa HiRm 3ik

v ow p

it % 9 Ry g 2 # v = oad
mgﬁq:
qeft-1 geEit-11
(geat =t (vueE & g
HUSH) °ZH )
Frerefi 1. 3@ gery
TRSITHRR 2. el v fasw
TeHiehia 3. 5«
FEEERR 4. 7=

T-DETA-K-HL/2A 21

Fe ¢

@) A B C. D
1 2 3 4

) A B C D
4 2 3 1

) A B C D
1 3 2 4

d A B C D
4 3 2 1

50. fafafag & @ #9-9 9 vies &7

IAULHT WK

e |ER

FHG & TR

T wgR

f9 R MU HE W W@ W EH INH
ghw

e :
(@ 13R2

BN e

(b) 334
(c) 233
(d) 134

51. & ks w1 @ 87

(@) Frg, s W yEw-od sEfem
B 2

(b) gt F i g, ST ww & W
LERERGIRS

c) TETm @A F OYg F S
&3

(d) 3 WA F T IR g, @
Y 8 % Wy dfEm g g

[P.T.O.




52. The

concept of sustainable

development relates to

{a)
(b}
(¢}
(d)

consumption levels
exhaustible resources
social equity

intergenerational equity

53. The jet streams are

(@)

(b}

{c)

(d)

wind systems  ‘with a
pronounced 1 seasonal reverse
at a direction '

winds blowing from the
subtropical high-pressure belts
towards the . subpolar low-

pressure belts

narrow meandering bands of
swift winds which blow in
the midlatitudes near the
tfropopause and encircle the
globe

winds blowing from the sub-
polar low-pressure belts
towards the subtropical high-
pressure belts

54. If the movement of the earth’s crust
or a major climatic change makes
an old stream young, it is called

(a)
(b)
(c)
(d)

consequent stream
rejuvenation
subsequent stream

aggradation
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55. Tsunamis are not caused by

(a)
(b)
fe)
(d)

hurricanes
earthquakes
undersea landslides

volcanic eruptions

56. Which of the following statements
with regard to rainfall in India’
1s/are correct?

1.

Most of the rainfall in India is

due to the south-west
monsoon.

In  South India, rainfall
decreases away from the

Eastern Ghats.

Select the correct answer using the
code given below :

Code :

(a)
(B}
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

57. Deltas are common in India for the
east-flowing river systems, whereas
they are nearly absent on the west
coast, because west-flowing rivers

(@)
(b}

{c)
(d}

are few

have lesser water volume and
carry less run-off silt

originate in dry areas

originate largely in the Western
Ghats and have a short
distance to cover to the sea




s2. yroha fawrm £ gwern fhad wafe 55. gArd frweh gro T ERAiv
27

(a) TS
fa) ITHT TR (b) T
(b) FSuolig wEE (c) VHEAAR SFEEH
(d) FFRdEE s6. @ F Fal & an i Ao o § @
P-|1/A wE /87
53, 3 87 1. oa # fmrre auf gfém-uiim
+ e S ' TR & HROT §i 2l
() W R # ygm wgite fod ¥ W™ 2, zfm wwg & i, gff Wl @ Q
LCiEl HZdt STt R
(b) T Tm-gE wRaH ¥ IO R Ro moge W oW W EE W
T Heat # 3R I8 Fwen g ;
& w2
(c) Torg wa f gehiol famdl ofged, st () ¥ad 1
goefm % fige ma waw ¥
waiEa 8 i yrvew # o € ) ¥ 2
{c) 1323
d) 9 fra-ge wfeamdt @ s
e 1 o€ A (@ T wAA 2
qaq
57, W@ § gd-wardl T @A & fog Sea am
% wafs Q@ ofirft a2 W onm sfEmE
54. g gt &t qdd i 7fd W g T@w=Ig % wifs fim-ward Afeaf
aftada 3¢ gin 1 Jar &0 3 B, @ W
mrra%sg? o (a) TBAE
(b) TE-EA T METHa FWOF AR
(a) ST wia [ g ME W
(b) g (c) T &a & 3w Bl 3
(c) T | (d) ufad el & sfeew 3F gt 8
3t FH PR Tk UgEd % R
(d) e (WeTH) Sy A g &
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S8. Which one of the following projects of
the NHPC (National Hydroelectric
Power Corporation) has the largest
power generation capacity
(installed)?

(a) Baira-Siul
(b} Chamera-I
{c) Loktak

(d) Salal

59. Which one of the following trains/
railways passes through Germany,
France, Austria, Hungary and
Romania?

{a} Trans-Siberian
(b} Cape-Cairo |
{c) Orient Express
(d} Union and Ceﬁtral Pacific
60. Which one of the following does not
have a heavy water, plant?
{a} Narora
(b} Sriharikota
{¢) Kakrapar

(d) Kota
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61. Bluetooth technology allows

(a) wireless communication
between equipments

{b) signal transmission on mobile
phones only

¢} landline to mobile phone
communication

(d} satellite television
communication

62. At high altitudes, pressure cooker is
preferable for cooking, because the
boiling peint of water

fa) reduces due to higher
atmospheric pressure

fb} reduces due to lower
atmospheric pressure

c) increases due to reduced

gravitational force

reduces due to increased ozone
content in the atmosphere

(d)

63. The vitamin(s), which is/are
generally excreted in urine, is/are

{a} vitamin A
(b) vitamin B
{c) vitamin C

(dj vitamins D and K




58. NHPC (Udla wa-¥ge wiw frm) 6 61. oy TRt fhet argafa 2 37
fretafgn st @ o fra @ R

TR e wite Sered aman (wefia) (o) IFEWN & S IHEE IR
{4
: (b) FEQ HiEage B W e yawe
(a) Fu-Taaa
(¢} AUSATH | WERA BH T91
(b) =TI
(d) Hemge Fehfeem gur
(c) TrETH
fd) W 62. e ST W v S & o A
FH A5l B, FIH T H FAH
59. F=fafad # @ BH-H s @ /ied s, (o) A AYAVSHE TS F R FA
wiw, afem, § i dmba A dm B e @
T 27
(b) T ATgHvEdE aW % S FH
(a) FE-TEfE & S &
(c] THFd TocAENU qA & F GG
(b) FA-FIF N
(c) shfiee e

(d) TgEved # @l g NWR WA F
HTOT FH 2 S ]

(d) YR wwe Fm Yt

63. T § ym: wH-g1/d fzim swhia da

60. fmferitm o @ el Tt et e T /7 AR
o) T () T A
(b) *iEfEne () frafm B
(o) TR (c) TaafimC
(d) e (d) fafim D s K
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64. Which one among the following is a
major source of sugar?

{a} Watermelon
(b} Beetroot
(c) Sugarcane
{d} Date
65. Itching due to insect bite is caused
by
{a} formic acid
(b) acetic acid
fc} lactic acid
{d] maleic acid
66. If excess fertilizer is applied to a
plant without water, the plant will
(a) be stunted in growth
(b} develop modiﬁ_cations
(c) die due to plasmolysis

(d} remain unaffected
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67. Tips of leaves in grasses and
common garden plants show water
drops in early morning hours. This
water accumulation is obtained
from

{a) atmosphere
(b} stomata
(c) vascular bundles

{d) hydathodes

68, Which one of the following is not
biodegradable?

{aj Woollen mat
(b} Silver foil
fc) Leather bag

{dj Jute basket

69. Which among the following elements
is abundant on the lunar surface
and holds the potential to put an
end to the energy crisis of the
earth?

fe) Helium-I
(b} Helium-II
{¢} Helium-3

{d) Helium-4




64. frafaflm & 3 =0-w = W = T

Hra 37

(@ T

(b) FH

{c} &I

(d) G

65. H2-T0 ¥ B Al el fews wwo g

7

(a) ifdE 3w
(b) e s
(c) fEes v

(d) eSS T

66. afe o d18 @l fomn ot & <1fd 39 R

S, 7  qie
 {a) & T IEES B
(b) = R wm

(c) Sagerdm=A % Ho W ST

(d) JTfad @
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67. TTEl =i T Iam Qi i ol & R

@ sin W e B R Reh ) T
SA-gea el ww g 87

fa) TIAVEA
(b) W
{c) ¥aE a=A

(d) SRy

. Frefafies # @ =0-w = a9 el
(FifEiess) @ &7

(@) FH =
(b) ifd i wEft
{c} - IHS T &N

(d) < & T

69. P=fiflaa & @ =i9-w a@ =w=m ) e

o TG A A R ol yw F Fel-wee
F1 GHTE F & h FeTaT @ 87

() wEfREs-1
(b) wferm-11
(c) Tifemm-3

(d) wiferm-4

[P.T.O.




70. The equipment SONAR is used to 73. Match List-I with List-II and select
determine the the correct answer using the code
' given below the Lists :

{a) depth of the seabed ' List-I List-II
| A. Wine 1. Barley
{b) intensity of an earthquake B. Beer 2. Sugarcane juice
. C. Whisky 3. Grapes
{c} cruising altitude of an aircraft D. Rum 4. Molasses
. ) Code
{d) speed of a moving object
fa) A B C D
2 1 4 3
b} A B & D
71. A milkman puts banana leaf in miik ()
. 3 4 1 2
jar, because banana leaf .
A fcj A B C D
3 1 4 2
fa) gives a fresh flavour to milk _
' fd) A B C D
2 4 1 3

{b) makes the milk acidic and

resistant to yeast
74. Which one of the following plants is

. _ ‘ popularly grown along the road for

(¢} makes the milk basic and absorbing vehicular pollutants?
resistant to yeast
A {a) Nerium

(d} increases the whiteness of milk {b) Neem
{c) Bougainvillea
(d} Calotropis
72. The coil in a heater is made of
' 75. Which one of the following is
commonly used as a flavouring

agent during the preparation of
noodles?

{a) mnichrome

b S {a) Saffron

{¢) copper ‘ {b) Cinnamon r
(c] Olive oil

(d) iron {d) Ajinomoto :

T-DETA-K-HL/2A 28




70. SONAR 3wt foraas frufmr & fav wge
B 27

(a) WG N TEE
(b) ¥ 6t Frga
(c) agAA H Tfmo-goran

(d) T e =

71. ST Y F FEA T ko F TG ISR B,
Hife Hd 1 qa

(a) Y H AT GAH M T

(b) g ® aredm ol wHit-ufed
CEIGI

fc) U T M wHR-ufadeh s
3

(d) T4 I q% = sgrEr g

72. @ H goee (Fee) frad o+ g 87
(a) Frpm
(b) TEA
(c) @™

(¢) wE
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73. FE- F gEHI & w9 gafa Hivm ik

et & R R g w1 o W
Eﬁiﬂﬁm:
-1 g1
A, T 1. s
B. s 2. TRH W™
c. fa=ht 3. ¥
D. @ 4,
T2
fad A B C D
2 1 4 3
) A B C D
3 4 1 2
/) A B C D
3 1 4 2
{df A B C D
2 4 1 3

74. Felfaa & @ 99-w1 @ Ow T &

TR ! AN HH & FoTQ wmr=raan
USH F GTY-GY I A 87

(aj =TT
(b)

(c) s
(d) Fegia

7s. Ffafafan 4 @ $R-w1 & TBoq 1 &

N Wi gefu-wde % wy § Tgw el
a7

(a) F

(b} <

(c) S I T

(d) IR

[P.T.O.




76. A boy throws four stonestof same
shape, size and weight with equal
speed at different initial angles with
the horizontal line. If the angles are
15°, 30° 45° and 60°, at which
angle the stone will cover the
maximum distance horizontally?

(@) 15°
(b) 30°
(c)' 45°
(d} 60°

77. The cleaning of ;dirty clothes by
soaps and detergents is due to a
type of .  molecules'  called
surfactants, which are present in
soaps and  detergents. The
surfactant molecules remove the
dirt by

fa) making the cloth slippery

(b) producing some gases between
the dirt and the cloth

’ {c) dissolving the dirt

(d} forming some aggregates of
themselves and .take away
the dirt in the’ core of the
aggregates

78. The most familiar  form of radiant
energy in sunlight that causes
tanning and sunburning of human
skin, is called ~

{a) ultraviolet radiation
(b} visible radiation
{c) infrared radiation

{d) microwave radiation
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79. The polymeric fibre used as a

substitute for wool in making
synthetic blankets, sweaters, etc.,
is

fa) Nylon
(b) Teflon
{c} Or_lon
{d) Bakelite

80. Which one of the following plants is

used for green manuring in India?
fa)] Wheat

{b) Sunhemp

{c) Cotton

(d} Rice

81. Which among the following are the

major reasons behind preferring
Eucalyptus tree in the planned
forestation process? .

1. Plantation grows very fast.

2. Plantation makes the soil more
fertile.

3. Wood from Eucalyptus tree is
easily converted into pulp for
paper industry.

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
(b} 1 and 3 only
fc) 2 and 3 only
{d) 1, 2 and 3




76. U TGH UH @l SR, AW MW 4R

el TR ged} W g = ¥ @t @
F Ane fim-fie e S w S
21 3fe ;o 15°, 30°, 45° 3R 60° ,
o T ww g T m yer Afes w9
| arftean gt 71 w=m?

{a) 15°
(b} 30°
{c) 45°
@ 60°

77. ¥ w9 I wEe o STmElnl § TR

T TER & et &, R yn-ufee
Fed 8, FO A B, W wEA
Fore A feemm e &1 gs-dfeae
9] A7 # fRE TR we &7

(a) T B T TR

(b) ¥ M #9g % d= To W =
W

(c) #a it faef (F97) W

(d) 9 9t F G T @ @ R fW
gl e 9 E

78. W 7 waifisr aHm yer &t e

wall, S g oo T
FRO A B, F R 27

(a) v fafeRT
(b} T ffem

(c) arace fafeo
(d) Temain fafeta
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79. FA % q& A YIH T Gl Fgerw ag, N

Rrafts wem, @ AR 7R 7 w=m
I ], &7

fa} AT
(b) TFA
fc) @A

(d) FFaTEE

80. fi=fufaa & @ -7 = Tun wra o ft

Qe FH % o 5g® sir 8t
(@) T
(b) W
(c) U

(d) U

81. ANHEE THFW T § YoHiced I8 &

Fftmm <A & 8 Fefaiea & @ ¥R-8

W@ H §7

1. T wEa Ao @ s

2, U JE & OFEHA FUH IS
T 2

3. IHforzd g% 6 TGl wO Ian
*F fq st @ R 4 ofefa @
ST 21

H= iy @ T = W@ W FE W
EELE

R

{a) Sad 1 3 2
(b) Fad 1 3T 3
{c) ad 2 33
d 1,233
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82. Match List-I with List-II and select 84. Consider the following statements :

the correct answer using the code 1. A person with myopia can see
given below the Lists : distant objects distinctly but
. ; cannot see nearby objects
List-I Lzstl—H clearly.
{Alloy) {Constituent)
2. A person with hypermetropia
A. Solder 1. Iron and Carbon cannot see distant objects
B. Brass 2. Copper and Zinc clearly.
C. Bronze 3. Copper and Tin 3. A person with presbyopia can
D. Steel 4 Lead and Tin see nearby objects without
- corrective glasses.
Code : Which of the statements given
@) A B C D above is/are not correct?
1 2 3 4 fa) 1, 2 and 3
(b} A B Cc D {b} 1 and 2 only
N 2 3 L fc) 2 and 3 only
¢/ A B C D d) 3 onl
y
1 3 2 4 {
(d A B C D 85. Match List-I with List-Il and select
4 3 2 1 the correct answer using the code
given below the Lists :
83. Consider the following statements : List-I List-I1
) . {Item} (Toxic substance)
1. lodine is necessary for the
thyroid gland  to ke A. CFL lamp 1. Nitrogen oxides
adrenaline. B. Automaobile 2. Phthalates
2. Tlodine deficiency leads to goiter battery
in human beings. C. Polymer 3. Lead
3. Iodine is secreted by pancreas D. Diesel engine 4. Mercury
and helps in regulating Code
cholesterol level.
) {a) A B C D
Which of the statements given 4 2 3 1
above is/are correct?
(b} A B C D
fa} 1,2 and 3 4 3 2 1
(b) 1 and 2 only ¢/ A B C D
1 2 3 4
fcj 1 and 3 only
{dj A B C D
{d) 2 only 1 3 2 4
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82. -1 B GE-1I & Ty gafra Fifrg ain

et & R R e g W v e owd
mﬁﬁq:

Teft-1 TefI
(Frsrerrg) (wem)
A. TR 1. §E 3 =Eq
B. d&d 2. qW AR &=
C. HiE 3. Wm 3R A
D. sH[E 4, dgr it fam

H :
@ A B C D

1 2 3 4

) A B C D
4 2 3 1
) A° B C D
1 3 2 4
d A B C D
4 3 2 1

83. FfeRaa wumt w famm Hifv .

1. uTise I ® ufRtelw e &
I s A s T 2

2. HEOEA-EHaT & afumTEEd Tt
T T (TETER) Tl B

3. WEEN rwE U ET B 2
I woRdd-ww F fFEme #
I Fel 2 |

3w el | wH-E1/Q T /e

@) 1,233

(b} Fad 1 3R 2

{c) Fad 133

{d) e 2
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84, Tfaftga wudi w fa=ar Hiftw -

Uow>

1. el (ariftmn) aren wufr g
T Fl geEa 9 3@ wewdl §
=g Troreen aegett A wea @ 7
@ |

2. dHglE (eEumgfen) e wafE
T gl W wWEa A qE @

gl |
3. sw-gERfar (i) awen =ke
Frrery agatt ) fomm woiys w9
% @ Ul 21
I FeAl # A FA-T/E 7 T 230
(@) 1,233
(b) F&FA 1 AR 2
(c) Fae 2 3N 3
(d) & 3
85. G-I W g1 F wiy gRira il af
gt & A9 g 7w 32 = wn w=oad
mgﬁq:
-1 -1
(w=) (anfarw wemef)
CFL &/ 1. Ag2RM STieaEs
FmEEa det 2. e
EIRiLt 3. dmn
Tl 3= 4. g
E T
f@ A B C D
4 2 3 1
() A~ B C D
4 3 2 1
0 A B C€ D
1 2 3 4
d A B C D
1 3 2 4
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86. Some statements about the benefits
of organic farming are given below.
Indicate whether they are true or
false using the code given below the
statements :

1. It reduces CO, emission.
2. It does not lead to toxic effect.

3. It improves the water-retention
. capacity of the soil.

Code :

{a) 1 2 3
False True False

(b} 1 2 3
True False False

{c) 1 2 3
False True True

{(d) 1 2 3
True True True

87. Which one of the following chemicals
is commonly used by farmers to
destroy weeds?

{a) DDT
(b) Malathion
{c/ Methyl bromide

{d} 2,4-D

T-DETA-K-HL/2A

88. Consider the following statements :

1. Clear sky appears blue due
to poor scattering of blue
wavelength of visible light.

2. Red part of light shows more
scattering than blue light in
the atmosphere.

3. In the absence of atmosphere,
there would be no scattering of
light and sky will look black.

Which of the statements given
above is/are correct?

(@) 1 only

{p) 1 and 2 only
{c) 3 only

{dj 1,2 and 3

89. Which one among the following

plants cannot be multiplied by
cuttings?

{fa] Rose
(b) Bryophyllum
{c) Banana

{d) Marigold

90. Hair of a shaving brush cling

34

together when the brush is removed
from water due to

fa) viscosity
(b) surface tension
{c) friction

{d) elasticity




86. 99 F & il & v & 3o @ AR

for Mg E1 weEl F AR Re o g =
TE SR & 9 g W I3

1. ¥§CO, e 7 HA &

2. W& yRumr=Ey ey W
B

3. U@ [T I SeI-URV & R IAQ

Eaikdl
He
{a) 1 2 3
" g A
{b} 1 2 3
T R pe o) RS
fc) 1 2 3
T e qd
{c} 1 2 3
pace| g T

g7 ffafaa & & =m-w @™ wEA

WA AT B0 @aE F T8 R
& fore v &ar 27

fa) DDT
(b) Aerfaaa
fc) Wi e

(d} 2,4-D
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88. Fmfaiae ot w far Hitvw .

1. 9% JEAH TR YW % Aid
T & 37T FHIUE F HRO A
feema 21

2. dgAEH R WERT H W 9 fi|
WY S e e wehvty wefdfa
EIGIRS!

3. dggved il wguftfa o ywm &
WA T g ol S F
g

e wedl H A w11/ wE R /R
{a) Fae 1

{b) e 1 3R 2

{c) I 3

(d 1,23R3

N i Sppu—

vaftfa =« g’
fa) T
(b} ST
(c) e
(d)

90. a Frel I g W T F ¥ Frawn

T 2, 99 W 9w g 7 R
forqe w3 €7

{a) TEHQ
(b} TE-TAH
{c) w§w

fd) TeETELl
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91. Consider the following statements

with . regard to Statutory Liquidity
Ratio (SLR) :

1. To meet SLR, commercial
banks can use cash only.

2. SLR is maintained by the
banks with themselves.

3. SLR restricts the banks’
leverage in pumping more
money into the economy.

Which of the statements given
above is/are correct?

fa} 1, 2 and 3
(b) 1 and 3 only
{fc} 2 and 3 only

{d) 2 only

92. Which of the following statements

regarding the Fundamental Duties
contained in the Constitution of
India are correct?

1. Fundamental Duties can be
enforced through writ
jurisdiction.

2. Fundamental Duties have
formed a  part of the
Constitution since its adoption.

3. Fundamental Duties became
a part of the Constitution
in accordance with the
recommendations  of the
Swaran Singh Committee,

4. . Fundamental Duties are
applicable only to the citizens
of India.

T-DETA-K-HL/2A
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Select the correct answer using the
code given below :

Cade :

(a} 1 and 2

(b} 2 and 4

¢/ 2 and 3

(d) 3 and 4

93. When Lord Mountbatten became the

first Governor-General of India, who
among the following became the
Governor-General for Pakistan?

fa) Lord Mountbatten

(b) M. A. Jinnah

fc} Liaquat Ali Khan

{d) Shaukat Ali

94, ‘Diarchy’ was first introduced in

India under

{a} Morley-Minto Reforms

{b) Montford Reforms

(c) Simon Commission Plan

(d} Government of India Act, 1935




‘ 91. wififres Weter @U@ (SLR) & wrary # da i g W owWm W wE I

Frafafas At w e iR gf
1. SLR T & gg FMNSF 9% Fad -
T%41 T I9AT HL YT B :
2. SLR, ¥& g0 9 9@ @ Sl (@) 132

2l

, (b) 2 2 4
3. SLR, S & oeie ht erefoyaeen #
FEFa AUE G W [ A 0 2¥R3
wiomf=e s 2
(d) 3 ¥R 4
I FUAl § W FH-91/ o 2/
(@) 1,233 93. ¥ wie WA Hd & YT TEH-S
o4, 39 gy Feffen 3 8 s afieem
(b) HaA 13 3 % TS "7
(c) e 2 3 3 g 7
(b) o o f¥m=n
(d) = 2
(c) Terapa areht @@
(d) g e
92. WA & dlaum # stafde ga wdeal & «n
7 fr=fafae 4 @ F9-2 T wdh 7
1. 9 wdea fre rftepiar % wmeam § 94, WA H ‘Yo wdvey frmfofen § @
vaida e 1 g&d €1 foras a1l sty feman wran?
2. T FuA HEUR % offlem &
T ¥ 5 T W (a) Wel-firl gam
3. 99 wuw wo Ty owffe f {b)ﬁf?‘ﬁ'sfgw
Trgfidt & ermm dfaum # uwm
Rkl (c) TIEHT RN A=Al
4. T %W A WRG F AR W
& AL e B (d) v T Tfafem, 1935
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95, The major thrust of Jawahar Rozgar 97. For which one of the following

Yojna (JRY) is on judgments of the Supreme Court of
India, the Kesavananda Bharati vs |

‘ (a) removal of poverty among the State of India case is considered a

Scheduled Castes in rural landmark?

‘ areas

{b) creating additional B wage (@} The
employment opportunities in
rural areas

religion cannot  be
mobilised for political ends

{c) creating employment oppor- (b)

eer s Abolishing untouchability from
tunities in urban areas

_ the country
(d} providing training to rural

youth for self-employment {c/ The basic structures of the

Constitution, as defined in the
Preamble, cannot be changed

(d} Right to life and liberty cannot

96. Which of the following was/were the be suspended under any

main feature(s) of the Government

i circumstance
of India Act, 19197
1. Introduction of separate
electorates for Muslims
2.  Devolution of legislative
authority by the Centre to the
Provinces
3. Expansion -and reconstitution 98, Who among the following Indian
of Central and Provincial Prime Ministers resigned before
Legislatures - facing a vote of no-confidence in

the Lok Sabha?
Select the correct answer using the

code given below :
{a) Chandra Shekhar

Code
(a/ 2 only {b) Morarji Desai
(b) 1 and 3
fc) Chaudhary Charan Singh
{c} 3 only
(d) 2 and 3 {d) V. P. Singh
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95. SIS TSR A (JRY) 1 T&F o«
Trafafaa 0 @ fem w #7

(a) Tdfior &= § arpgfam it & W=
frdaar-3agem

(b) ufor &a # afafes gl Aemm
F wrTETeT W oA

c) W&l &3 | AR H weEet #=;
e

(d) Trfo gE = w-Temm ¥y wihew
Y HEH

96, frafaflgs & ¥ #R-@ ww@ @R

sfufam, 1919 i = fafva(d)
oft /off?

1. geemHl % fow gag Fates-nvea
Lol

2. &% T U] o faured witeer w5
STFHAY

3. =M R w=m faurnwed! &
o e gian

= R T e W v W a9d 3w
EELE

E T
fa) Fad 2

(b) 133
(c) ad 3

(d) 233
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97. WRd & I=dd Il & [=fafag # @

fora w fofe & fo S sl a9
IRa U9 a8 & weh Wfamfess gen 1
E IR

(@) wd = TeEIRE IRw ¥ g wem-
Tifera d fasar s @

(b) oW TG ] I HE

(c} dfaum & g we, dw fR
Fefir § Fefa 2, aiafda a8 f
1 Ehar

(d) SiE.3 @ w1 st fadt
+ff offefy & Fretfem T8 e wn
aFal

08. fafafian wefls wuafal § @ fem

e T & afawe w9 & gm0 @
g @ 2 fn en?

(a) R

(b TR T

fc) <l wtw e

{(d) do dio iz

[P.T.O.




99, Which one of the following
statements related to the Boston
Tea Party of 16th December, 1773
during the American War of
Independence is correct?

faj The revolutionaries stealthily
entered into the ships and
threw ali the chests of tea into
the water

(b) The revolutionaries hosted a
Tea Party in the honour of
Charles Townshend, the
British Chancellor of the
Exchequer in order to place
their grievances before him

{c) 1t marked a celebration when
Lord North, the successor of
Townshend, repealed some of
the duties imposed Dby
Townshend

{d) It was a protest against the
Quebec Act

100. Consider the following statements :

1. The total elective membership
of the Lok Sabha is distributed
among the States on the basis
of the population and the area
of the State.

2. The 84th Amendment Act of
the Constitution of India lifted
the freeze on the delimitation
of constituencies imposed by
the 42nd Amendment.

Which of the statements given
above isfare correct?

{fa) 1 only

{b) 2 only

{¢/ Both 1 and 2
{d} Neither 1 nor 2

T-DETA-K-HL/2A

101. Which one of the following is a
Human Right as well as a
Fundamental Right wunder the
Constitution of India?

{a) Right to information
(b} Right to education
{c} Right to work

{d} Right to housing

102, Which one of the following
Commissions/Committees was
appointed by the British
Government to investigate into the
massacre in Jalianwalla Bagh?

fa) Welby Commission
{b) Hunter Committee
{fc) Simon Comrmission

{d} Butler Committee

103. Consider the following statements
and identify the person referred to
therein with the help of the code
given below :

During his stay in England, he
endeavored to educate the British
people about their responsibilities
as rulers of India. He delivered
speeches and published articles to
support his opposition to the unjust
and oppressive regime of the British
Raj. In 1867, he helped to establish
the East India Association of which
he became the Honorary Secretary.

Code :

{a) Pherozeshah Mehta
(b) Mary Carpenter

{c) Dadabhai Naoroji
{d) Ananda Mohan Bose




99, Tl =axd GUH & eNH 16 Ry,

1773 & arg A Ul A walEa
Ry ol § 2 99-w w9 R?

@) TG - G § R i
o A wr At T A e R

(b} wfawma % GRw SweR @w
TR, Il TEES F FH §
w & W @ oafe et Rremd
I W9 T@ Hh

(c) VA TS F IO @i Y
A W TN Y MY Gt H A
Fo # o =, =@ 1| |
ITAET HT ARG a4 71

(d) % wEE Uae & foeg T widae W

100. Fr=fafaa weEl w faar $ifs

1. @ W R @ Faifwa aeem
Twdl # UeT H e 3R e
F amum W fafa

2., WM % EREYE % B84d wWINEA
sfafa 3, 428 dwww g
arfeiife FefaT-aat & ol @
RURGET AR R ERI

I FAl § @ w0/ ¥R

o) FaE 1

(b} HaA 2

{c) 1 328

() a1 mad2
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101. Fr=fafaa § @ ®9-1 & | F Bide

% i AR & e & g iR
ot 27

(a) G ATTHR
(b} Ten = arftEn
(c} W YR F IAAHR
(d) T F1 e

102. f=fefed smimi/affal & | v f

fagfe fafen wer T siEfEen  m
garRvg I wiw & fog & g i

fa) Az AT
(b) O wiHf
fc) WIZRA M
(d) =Eer wfEf

103. Fr=fafan Fut @ fREr it ot 3

fife w afe # M v g 6
HEgdl § WEIAY

TTAvE & A9 Y9I F IR, I W
A w WRG F WEHw F Y H TS
afeeal & ar d Bif¥a &6 71 399
frar) 3=l Ay o9 & sy 3R
SETFIN WA & it 9 {0y & "l
T yryor fow 3 o@ wIfa fdu 1867
§ 3¢ 2 3foaar qaiev # T §
HEra %1 forgas ] urie qfea a3

e
(a) TR AE
(b) B ey

(c) TS AR
(d) =

[P.T.O.




104. Which two of the following plays
did Kalidasa write before writing
Abhigyanashakuntalam?

1. Vikramorvashiyam -

2.  Malavikagnimitram

3. Swapnavasavadaitam
4

Kadambari

Select the correct answer using the
cdode given below :

Code :

fa) 1 and 2

(b) 1 and 3

fc 1 and 4

(dj 3 and 4

ok

105. “Use of white marble, long legs and
slender frames, human beings as
central characters and prominence
of kings, princess and palaces”
were the characteristic features of
which one of the following ancient
art forms of India?

Amaravati School of Art

(a)

T

fb) Gandhara School of Art

f¢) Mathura School of Art

(d) Pahari School of Art
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106. Who drafted the Constitution of
‘Muslim League, ‘The Green Book™

fa) Rahamat Ali

{b} Muhammad Igbal

{¢) Muhammad Ali Jinnah

Maulana  Muhammad * Ali

Jauhar

(d)

107. 26th October, 1947 is an important

date in the Indian history, because
of

N {aj Maharaja Hari Singh’s signing

of Instrument of Accession

(b} ceasefire with Pakistan

(c}

merger of Sind

(d)

declaration of war over India by
Pakistan

e c

108. The Nehru-Liaquat Pact between
India and Pakistan was signed in
1950 to resolve the issue of

{a}) the protection of minorities
(b} the accession of Princely States
{c) the border disputes

{d) the problem of refugees




104. 3fgmwFaom e & yge wifeR™®

105.

Freféfas 4 @ 9-8 @ Tes o 9t
1. faggideiay
eIty

HEFTGERIY
FErE

i

R g T g w oW W FR TN
EIGLE

k3

@) 1 32

(b) 133

(c) 134

{d) 3% 4

“Hhe ETHET 1 WAV, @ @i afi

THE 96, H 9 F w9 1§ qg i
Tell, TemAtEl ofit uemEsl W

- wgEar’’ wmE & Fefaied e wer-

w A & TRt A sl faevend
off?

(a) STE! HelT TG
(b) U S YT
{c) YU HE TG

{d) TEIE! whell TRET
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106. gfRm oM & dfawm, T W g%, w

g e Fwn?
(a) TEHa A

(b) TEE T
(c) TR Il o

(d) HYTE gERTE 3Tt S

107. Fra ST 26 TR, 1947 RAWT FaeE

=1 o g fafy 37

(a) warsn 2 fig g srfufem-wa m
e o s

(b) WIFEA % WY g&-TH
() T =1 faream

(d) UTREIE E MIRE R & i =iwon

108. W@ 3R wiidea™ & g 1950 § JEw-

foramra Y w TR fefafaa & @
w2 & g ¥ T fg mo?

(@) STETHETH] B T
fb) it Tl = stfufiem
(c) Hm-foam

(d) il £ geen

[P.T.O.




110. The ‘Dual

- 109. Consider the following statements

relating to the famous Muzaffarpur
murders (1908) :

1. The bomb, which was hurled
at the carriage of Mrs. Pringle
and her daughter, was actually
intended for Mr. Kingsford, the
District Judge of Muzaffarpur.

2. The revoluticonaries wanted to
kil Mr. Kingsford, because

he had inflicted severe
punishments on Swadeshi
activists.

3. Khudiram and Prafulla Chaki
had to pay the penalty for their
action by death.

Which of the statements given
above is/are correct?

(a} 1 only

(b} 2 only

{f¢} 2 and 3 only
(@ 1,2 and 3

Government’ recom-
mended by Lord Clive provided
that the

{a) criminal justice would be left to
the Nawabi officials, while civil
and fiscal matters would be
controlled by the Company

{b} Company will loock after fiscal
matters and all the rest would
be dealt by the Indian rulers

{c} Indian rulers will deal with all
the matters of administration
under the supervision of a
Company official

(d) Indian rulers will be only
titular heads and all -the
powers shall be directly dealt
by the Company

T-DETA-K-HL/2A
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111. After the death of Raja Rammohan
Roy, the Brahmo Samaj split into
two sections; -the Brahmo Samaj of
India and the Adi Brahmo Samaj.
Who were the leaders of the two
sections respectively?

{a) Keshab Chandra Sen and
Debendranath Tagore

{b) Radhakanta Deb and
Debendranath Tagore

fc) Keshab Chandra Sen and
Radhakanta Deb

{d) Debendranath Tagore and
Radhakanta Deb

112. Consider the following statements :

UNESCO’s World Heritage mission
is to

1. take over the management,
maintenance and preservation
of World Heritage sites.

2. encourage State parties to the
Convention concerning the
Protection of the World
Cultural and Natural Heritage
to nominate sites within their
national territory for inclusion
on the World Heritage List.

3. provide emergency assistance
for World Heritage sites in
immediate danger.

Which of the statements given
above are correct?

(o) 1,2 and 3

(b} 1 and 3 only
{c/ 1 and 2 only
{d) 2 and 3 only




109. foEaw gewegt geedt (1908) ¥ i #

Frafafan Fot w famm fifv

1. ag @\, st At e i sht
o WL 9 R T e, SR
R & e ofmm
fraerd o forg stfia om)

2. wi<wht R fraerd o
aEd ¥ wifs IER =R
girgamanedl wt #war gvg fa &

3. oW R pg T F A FH
% R g, g & w0 o
92|

I FAl § ¥ BA-1/F w2/
(o) HIF 1

(b) e 2

fc) Faa2 AR 3

(d 1,23R3

110, T8 FM3a W TG 39 G&R T Fm
3vafaa or?

() Te-AW TaEl a5 f
Big Rw smom, sEfF amfs @4k
TeEEE e wEE & fregw §
W

(b) wEdt TS TEE @ 3k
v @ft T wwd s g
frgem smin

(¢) Fo & uh Il & qdawe %
A, o % wft oee s
a3 e s

(d) TR wEE TREE & gRea §E
dn wht wheal s 5 vy
e W gt
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111, TS0 UFEIE @ & Ueg & 94, 98 99

QA gl ¥ R | T wa W wa
T 3R i s w1 g
& A I B A7

(o} FTE T B A JazA" T

(b} U 39 3R Ia=EA1Y TN

(c) HE TF B AR TUTHIA 3

(cd) FEATI T AR mm?r.éa

112. fFraferfaa wemt o fem fifte

UNESCO = fag faueq fimm
1. fag fooma vl & gamu, Swpem
T[T ORI T VR o @ fag 21

2. fag orhe @ v fow %
GO ¥ FUHR T 9 HasE &
T 9EHRA A, AW U T8
& It vl @ faw fowa gt @
Tmifea HA ¥ MWD wH ¥
fore &

3. HWA Heewd fag farwa wret &
RT3 weEE WeR S % o
8l

TG FAT A FH-H T 27
fa 1,233

(b) I 1 ¥R 3

(c) Fad 13 2.

(d) Fad 2 3 3
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113. Which one of the
statements regarding Harappan
civilization is correct?

following

{a) The standard Harappan seals
were made of clay

(b} The inhabitants of Harappa
had neither knowledge of
copper nor bronze

{c/ The Harappan civilization was
rural-based

(d] The inhabitants of Harappa
grew and used cotton

114. Under which of the following
conditions can citizenship be
provided in India?

1. One should be born in India.

2. Either of whose parents was
born in India.

3. Who has been ordinary
resident of India for not less
than five years.

Select the correct answer using the
code given below :

Code :

. {a} 1,2 and 3
(b} 1 and 2 only
fc) 2 and 3 only

(d) Either 1 or 2 or 3

T-DETA-K-HL/2A

115. Consider the following statements:

1. The current global economic
crisis owes its genesis to the
subprime crisis in the United
States.

2. The Indian economy is showing
a faster recovery from the
economic crisis than its
western counterparts.

Which of the statements given
above is/are correct?

fa} 1 only
(b} 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

116, Which one of the following
inscriptions mentions Pulakesin II’s
military success against
Harshavardhana?

{a) Allahabad Pillar Inscription
(b) Aibole Inscription

{¢) Damodarpur Copperplate
Inscription

{d} Bilsad Inscription




113. =W o & fGug 4 fratafee wudt
¥ ®H-T1 TF 98 27 '

(a) W gour gEd i A = off

(b) T F Farh 7 @ ww $ T §
JFA Y A aEF

(c) BT | TW-Ii ot

(d) T % Fam suw I 3 iR
T & A 9

114. TafaRas et d @ s ordfia s 8
‘ fortht = Amifterm weTa Y < T &7

1, I S NI H g g =)

2. fmd war-fuan, 9Ft 4 ] R
IR T SR AT

3. W ®H-¥-H9 99 99 qF HEG H
HIUEW AT & a

R M F2 &1 @ W ogE SW

%e
(@ 1,23M3

(b) wae1 3R 2
(c) A 2 M 3

(d) |MA 1, T|M2T3
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116. frffay st ot & ¥ FA-w

115. Prafafiga =t w fan fifde

1. adma i anfis g & Iy
W U ¥ AE-NHE (H-9EH)
uFe q gl

2. WA rdfegaeen 3w onfds g §

MY WHRE wEeEl i ged &
ity et ® Il @ @ 2

IR FoEl A R/ BA-91/@ wet /30
fa) %I 1

(b) FE 2

(c) 1 3T 2aEt

(d) a1 RTE 2

i 4

adq ¥ foeg gosfim fidfa &
TEHEAT 1 I Har &7

(a) SRR R Ihivl i@
(b) T schi 9
(c) STRERGR AH-9igE IEhit aE

(d) Tocws vl o

[P.T. O.




117. The Constitution (74th} Amendment
Act mentions of the

fa} composition of the National
Development Council

{b) structure . of the Planning
Commission: of India

fc) functions of the State Finance
Commission

{d) functions of the Kaveri Water
Authority

118. Which one of the ({ollowing
International Human Rights

Instruments has been signed by
India but not yet ratified?

fa) Cdnvention on the rights of the
child

Convention on the elimination
of all forms of discrimination
against women

(b)

fc)

Convention on the political
rights of women

(d)

Convention on the nationality
of married women

119. Consider the follolwing statements

1. The gross revenue from the

telecom sector in India
accounts for 3% of the GDP
(2009).

2. Centre for Development of
Telematics is better known as
C-DOT. -

3. The- switch from digital
technology to the analog
system  revolutionized tele-
phony in India.
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Which. of the statements given
above is/are correct?

faj 1 only

{b) 2 only

fc) 1 and 2

(d) 2 and 3

120. Consider the following statements
about Concordat :

It is an agreement between the
Roman Catholic Church and
kK the State.

. W

2. The President of Brazil did not
sign a Concordat during the
Pope Benedict XVI's visit to
Brazil in 2007.

3. Concordat of 2009 was signed
between the Holy See and
Portugal.

Which of the statements given
above is/are correct?

fa) 1,2 and 3
(b} 1 and 2 only
fc; 2 only

(d) 1 and 3 only




117, dfgam (74af) R it feam
TP Fa 27

(a} TS Ty aftog =1 oed
(b) STGE & WA raw H =
(c) TsH ford s & »rd

(d) wal s witERw & w5

118. Ffafleds & @ =W-w @ aigd
THATYUHR W99 W 50 genEiE
mar & foeeg snft oo argemfda i &7

(@) Toag % sl | F=m

(b} &t & foeg At v F e &
e o w=[m

() @ ToifE SRR R S

() Tafea =t it waa ® w3

119. Fefefgs Fudl w faem Ao .

1. YR | deftein Twer ¥ fiem aran

Twel ToRd, GDP (2009) 1 3%

B '

2, U BR T Iiw TR @i
C-DOT % & § i SFr
Bl

3. o MR & sgew woneht d
WA ¥ 90d H THEH-TEUR |/
i 3 ME |
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I wyEl A @ wH-w /R wd R /e

fa) Fad 1

(b) FaA 2

fc)

1 3T 2

(d) 233

120. giafy (F=Ee) F faua & Foafatea
FuAl R Tamm Hif :

.

7 U Fafos = R o &
& gy R
g9 Sdifgwe xXvi &t 2007 @it

A AT F <A S & aEdid
3 forelt enfaf w zaner 72 frmy

2009 H udatw B @ sk
gime & @9 wefa gl

Sqgh sl § @ w-an/d ad §/87

@) 1, 23MW3

(b} Fad 13 2

{c) Haw 2

(d) Fae 13T 3

[P.T.O.






